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* ¥4 < —(timerl.scala)
+ {57 (trafficlight.scala)
* 4 — b= b ¥ (automaton.scala)

+ RIBEIPR AR E S L7245 %5 (scheduledtrafficlight.scala)

+ I b~ (poton.scala)
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* AJIXTFHES:

+ ¥ = {tick}: K5t D F 7 % 7 (0.0115 k)

+ IREEEBREHE: 6(t € T, tick) =t + 0.01
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+ JREEES (BROBDES)

+ Q={7h, A&k, ¥}

+* ANXEEEG: T = {tick)

+ TREEEEEHE: d(IR) = #%, d(FKk) = vi, d(11) = A
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[ AR7. "6, AR5, 784, 773, 282, ZR1. #K5. fkd. %3, FxK2. FxKl.

+ d(J1, tick) = #%5, O(fK1, tick) = 52, &(1, tick) = N7

+ d(Ahi+1, tick)=2A8i, S(RKki+1, tick)=fxki, &(¥ii+1, tick)=rii for all iin [1,7]
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+ O((fh, r+1), tick) = (4, 1)

+ O((f, 1), tick) = (next(ff), r), where next(J5 [ g/ 111) = f / 115 [ Ap
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w JREEEA: Q=X xY (HDOPE % K J JEE)

+ Xin [0, Width], Y in [0, Height]

o ]\jij?‘ZKI/—:AI\ Z = { tiCk/ S }

+ 0((x, y), tick) = (x, y+1)

* d((x, y), <)=(x-1,y) / dx y) —=)=(x+1,y)
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case class TimerWorld1(t: Int) extends World() { ... }

w« IR RE
TimerWorld1(0).bigBang(50, 50, 0.01)

+ IRFE DR (tick) — IREEETS
def tick(): World = { TimerWorld1(t + 1) }

o RFZ D ERH: draw %X
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+ JRRE: case class Light(color: Color) extends World() { ... }

+ FIHHIREE: Light(Red).bigBang(300, 300, 2)
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SR Dt - IRFEER

def tick(): World = {
Light(color match {
case Red => Green case Green => Yellow case Yellow => Red

)
}

S D ELMHI: draw BEEL — canvas.drawDisk(Pos(150, 150), 120, color)
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case class ScheduledLight(color: Color, waitFor: Int) extends World() { ... }

= FIHIREE: ScheduledLight(Red, 7)

e D — TRREER

def tick(): World = {
(waitFor, color) match {
case (0, Red) => ScheduledLight(Green, SECS_FOR_GREEN)

A

<

case _ => ScheduledLight(color, waitFor -1)}

FZ DOELIMN]: draw B4%X — canvas.drawDisk(Pos(150, 150), 120, color)
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+ fRRE: case class PotonWorld(centerX: Int, centerY: Int) extends World() { ... }
+ FIHHIRRE: PotonWorld(WorldWidth / 2, BallRadius * 2)

+ IRAEES

«

+ tick(): PotonWorld(centerX, min(centerY + 5, MaxY))

+ keyEvent(key):
key match {
case "LEFT" | "h" => PotonWorld(max(MinX, centerX - 5), centerY)
case "RIGHT" | "I" => PotonWorld(min(centerX + 5, MaxX), centerY)

o



N7
RAEEELEA R 2 TR TE

MR IIREBR N 2 HE S
5.

ol EA4 vy 57> a v

55 7 b 2 7 QIR IREEZ L % S L 7

=R

KB LT TE

13 ZF N F NIRRT v
1 722 TREERRI A~ D A

7ick)eE AL V¥ 577 arDE
et Aac Lo =4



